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C-353

B.Com. (Part-III) Examination, 2022

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - I
(Business Budgeting)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries

Note —

e —

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I8) | Wi WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (3T : 8 x 5 = 40)
@ H § R O TR & SW SN (SW-EE 200 ) | TOE WA 8
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(T@ue-|) (3T : 20 x 2 = 40)
gﬁﬁﬁﬁﬁagﬁ@wﬁm (SR-H 500 ¥%) | TeHH T 20 TF H

|
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Section-A
(Tue-3)
. (@ What is the difference between budget and budgeting ?
oS TH 5T H O FAW T ?
(ii)) What is meant by Government Budget ?
THT T T F1 A/E § ?
(ii1) What is Flexible Budget ?
NIENIGIEECACS
(iv) What do you mean by Production Budget ?
SR S ¥ SIS R WA T2
(v)  Mention any fwo benefits derived from Cash Budget.
UYHg o & al oY dEu |
(vi) Give any two differences between budget and forecast.
IS TE HHE H HE SR TR
(vi) Define Budgetary Control.
ESCAERERECIIE T IS 1
(viii) Give two differences between performance budgeting and traditional
budgeting.
FToaIET aSted U WERETG o9ied H <R % hIis af fog saEt |
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(ix) Define Standard Costing.
A @rra fafy w1 aRfa s
(x)  Define Decision Tree.
ol g& =t afuren STl
Section-B
(@us-=)

2. What is Government Budget ? Discuss the main objectives of Government

Budget.
T o5 1 § ? TS ooie & q&d Sevdl &1 fag=r ®ifs)

3. Explain the meaning of Cash Budget. How is it prepared ? Discuss its importance.

Yk o h1 AY THART| IE HY IR fHa S ® 7 THHR Hed TR SIS

4.  Calculate trend values by least square method :

| & Ofa g/ g\ ged 91 Hig

Years Sales (in lakhs)
2016 16
2017 35
2018 34
2019 58
2020 77
2021 91
2022 95
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5.  Calculate Activity Ratio, Efficiency Ratio and Capacity Ratio :

et sTehel & FRamsiiciar STUTd, hITerdl STUM TS &T9al ST I hifay :

Budgeted Production

Standard hours per unit

Actual Production

Actual working hours

85 units

10

75 units

600

6. From the following particulars, ascertain which project is more risky on the basis

of Standard deviation :

frefafea wmet & 9 SIS fF 79 faaem & SR W S dm st sifergot

€72
Project X Project Y
Cash Inflow (%) Probability Cash Inflow (%) Probability
2,500 0.2 2,800 0.1
4,800 0.3 4,500 0.4
7,000 0.3 6,300 0.4
8,200 0.2 8,400 0.1

7.  What do you mean by Performance Budgeting ? Explain its main features.

fouTes Iofe ¥ ST 9 GHEd 2 SO WO faviaisi i aHest |
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8.  Prepare material budget on the basis of the following informations. Material

specifications for 5,000 units of each product are as under :

frafafea gemstt & oMYR W 9l a9 TR ST J&% SR &1 5,000 sHEd
% fou g fafdsm 3@ 9R ¥

Product
Material P (kg) Q (kg) R (kg)
A 1,000 500 2,500
B 2,000 1,000 1,000
C 5,000 2,000 500
Total 8,000 3,500 4,000

The cost per kg of Material A, B and C are ¥ 10, ¥ 5 and ¥ 2 respectively. The
units to be produced to Product P, Q and R are 25,000, 50,000 and 1,00,000

respectively.

A, B 1@ C 9mfiEt &t gfa feimm @mm 210, T 5w T2 1 S P, Q a1 R &t

I i S el gHEAr wAEW: 25,000, 50,000 qew 1,00,000
Section—-C
(@us—|)

9. “Budget is an essential tools for managers.” Explain this statement and discuss

the qualities of an effective budget.

“IoTe JerUhl % T T STEavas UK §1”7 39 U S T I g U FHESed
e & TN HT e wifsT
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10. What is Zero Base Budgeting ? Describe its advantages and limitations.

I YR IS F1 ¥ 7 3HH U Ud HEiel w1 gui wifs

11. From the following particulars compute fixed overhead variances :

freafafea faeron @ feer sy fa=ror 3@ wifsT .

Budget Actual
No. of working days 20 22
Working hours 4,000 4,300
Output (in units) 400 425
Fixed overhead (in ) 20,000 18,000

12. The following information is available from the records of a Company :

TH A & stfveEt 9 3

q oA U T

60% (6,000 units)

80% (8,000 units)

() ()

Cost -

Direct Material 24,000 32,000

Direct Wages 60,000 80,000

Direct Expenses 12,000 16,000
Overheads

Indirect Material 3,000 4,000

Indirect Labour 1,200 1,600
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Supervision 1,600 2,000
Repairs 320 360
Depreciation 2,000 2,000
Salaries 1,200 1,200
Insurance 1,000 1,000

Total Cost 1,06,320 1,40,160

Prepare a flexible budget at 70%, 90% and 100% Capacity.

70%, 90% A= 100% FEGHM & fau de=mid s5e s |
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